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The figures in the margin indicate marks for each question.

1. Attempt a summary of the following passage: 25

Several times in the history of the world particular countries and cities, or even small groups of
people, have attained a high degree of civilization. Yet none of these civilizations, important as
they were, have lasted, and one of the reasons why they did not last was that they were confined to
a very few people. They were like little oases of civilizations in deserts of barbarism. Now it is no
good being civilized if everybody round about you is barbarous, or rather, it is some good, but it is
very risky. For the barbarians are always liable to break in on you, and with their greater numbers
and rude vigour scatter your civilization to the winds. Over and over again in history comparatively
civilized peoples dwelling in cities have been conquered in this way by barbarians coming down
the hills and burning and killing and destroying whatever they found in the plains. In the thirteenth
century most of Europe was overrun in this way by the Mongols from Central Asia, and such
civilization as then existed was nearly destroyed.

None of the noticeable things about modern civilization which is also one of the reasons why it is
likely to outlast the others, is, that it is more or less free from this particular danger. And it is free
from it because it is far less local and far more widespread than the others; so widespread, indeed,
that it already covers a large part of the earth.

. Write a report on how a particular locality in Kolkata voluntarily has taken up good practices of

maintaining hygiene and social distancing to bring down active cases of COVID 19 and setting an
example for others. 25

. Answer the following according to the instructions given alongside. The full marks for each question

are given against it.

(a) He died in his native village. 2
(Change to a Complex sentence)

(b) The boy was disobedient, and so the teacher punished him. 2
(Change into a Simple sentence)

(c) If you do not hurry you will miss the train. 2
(Change into Compound sentence)

(d) One should keep one’s promises. 2
(Change into Passive Voice)

(e) Our army has been defeated by the enemy. 2
(Change into Active Voice)
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(f) Hereafter he is disqualified of/for holding any government post. 2
(Choose the correct preposition)

(g) He is expert in/on inventing stories. 2
(Choose the correct preposition)

(h) He is intent upon/on visiting Norway. 2
(Choose the correct preposition)

(i) He said “My master is writing letters.” 2
(Change into Indirect speech)

(j) He called upon God and said that he was ruined. 2
(Change into Direct speech of Exclamation)

(k) Give the antonym of ‘ferocious’. 1

(1) Give the synonym of ‘worthy’. 1

(m) He (talked of/cried out) against injustice. 1

(Choose the correct option)

(n) I was (let into/put into) her secret. 1
(Choose the correct option)

(o) He (predicts on/holds out) no promise for future prospects. 1
(Choose the correct option)

4. Translate the following passage from Bengali into English. 25
(Who opted Bengali for Paper-II)
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Translate the following passage from Hindi into English. 25
(Who opted Hindi in liew of Bangali for Paper-II)
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Translate the following passage from Urdu into English. 25
(Who opted Urdu in liew of Bangali for Paper-1I)
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Translate the following passage from Nepali into English. 25
(Who opted Nepali in liew of Bangali for Paper-II)
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Translate the following passage from Santali into English. 25
(Who opted Santali in liew of Bangali for Paper-II)
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BENGALI

Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued and the
remaining ones ignored.

The figures in the margin indicate marks for each question.
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3 2AfSrava a5+ T | 3¢

THIM T 2 @&
‘I won’t take up a lot of your time’, said Kantibabu.

‘I came across one of your novels recently. So I got in touch with your publisher, took your address
and here I am. There is a special reason why I had to see you.’

“Yes? Tell me about it. But before you do, there is so much I want to know. When did you return?
Where were you all these years? Where are you now?’

‘I returned two years ago. Before that I was in America. Now I live in Barasat.’
‘Barasat?’

‘I bought a house there.’

‘¥es’

‘And a green house?’

‘In the house that I had visited before, Kantibabu had a lovely green-house, in which he tended,
with great care, several of his rare plants. I had seen such a large number of strange plants there!”
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3. Translate into Hindi : 25

‘T won’t take up a lot of your time’, said Kantibabu.

‘I came across one of your novels recently. So I got in touch with your publisher, took your
address and here I am. There is a special reason why I had to see you.’

“Yes? Tell me about it. But before you do, there is so much I want to know. When did you return?
Where were you all these years? Where are you now?’

‘Ireturned two years ago. Before that I was in America. Now I live in Barasat.’

‘Barasat?’

‘I bought a house there.’

“Yes.’

‘And a green house?’

‘In the house that I had visited before, Kantibabu had a lovely green-house, in which he tended,
with great care, several of his rare plants. I had seen such a large number of strange plants there!’

4. sifelen sg=x =1 aR-d98v w=E A . 25
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URDU

2x5=10 ,fjédmu:ukuﬁ’u,g_w‘tégfuuzisaj; 1.(a)

(Give the meaning of any five of the following and use them in your own
sentences.)

WP e Il e K TP _tpeF - U
_tyzﬁ’.b//:.g

1x5=5 R A2 S 8L, L’ 1)

(Make any five sentences from the following so that the gender may be

clarified.)
5T 2o y ./;.; ES Sy o
o 2SS LWSies 10
(Write any five opposite from the following words.)
P R e e e
5x1=5 FE L=t 1@

(Explain any one from the following.)
..’.“Juf-]@uﬂébé‘/ﬁd/&i‘(—f (1)
- .“Jd!lf-’.u'éué!/‘? J/:/ (i1)
Sy NS i)

25 B O Lt s 2.

(Write a report on any one of the following topics.)

..".;4}'5(‘-4-’) (&)
=ML B LS LA (L)
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3 . Translate into Urdu,

25
T won't take up a lot of your time; said Kantibabuy,

T came across one of your novels recently. So | 20 in touch with your

publisher, took your adress and here I am There is a special reason why I
had to see you '

"Yes? Tell me about it. But before you do, there is so much | want to know.

When did you return? Where were you all these years? Where are you now?

T returned two years ago. Before that [ was in America. Now I live in
Barasat.'

‘Barasat?'

T bought a house there."
xes!

'And green house?'

'In the house that I had visited before , Kantibaby had a lovely green house,

in which he tended, with great care, several of his rare plants. I had seen such
a large number of strange plants there!"

Zggﬂﬂéb/ugo’(aufabl};lij@u 4.

Write a summary of the following passage.
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NEPALI

(&) TR SR A G A i e (F 9 (Use any five of the following
2x5=10

e, T W] e o g, e gl
2x5=10

in your own sentences):

S =g T, TR G, G T, S
(@) |fg fa=e T F@raed (F ¥r=)(Disjoin the Sandhis of any five):
() faulad® I= sre (F7 9)(Give the opposite words of any five): 1x5=5

o, =/, S, IO, T, T, Fed |
Draft a Report on the following topic (ufiraed Treger):
SfiTe 1 TEERE GHAN TUEE RH FRRCAE (positive) FrIEEa T3 yfeded SeeH
25

25

Translate into Nepali :

‘] won’t take up a lot of your time’, said Kantibabu.
‘I came across one of your novels recently. So I got in touch with your publisher, took your
address and here 1 am. There is a special reason why I had to see you.’

“yes? Tell me about it. But before you do, there is so much I want to know. When did you
return? Where were you all these years? Where are you now?’

I returned two years ago. Before that I was in America. Now I live in Barasat.”

‘Barasat?’

‘T bought a house there.’

‘Yes.’

‘And a green house?’

‘In the house that I had visited before, Kantibabu had a lovely green house, in which he tended,
with great care, several of his rare plants. I had seen such a large number of strange plants there!”

Write a summary of the following passage (F¥) : 25

it T fafie o & favenfye | Jes Sfae ST SRl TRIEE W go | W1 T AT
T drefie < Trere AT B T, T TR G S TR ST SR S §9
s o It Y T | T FE @ § o §O I T e v T iRy g
AT Hifec HHRAT 372 T S @S | H9 FlermEen Fa * Afme i %ﬁ, ‘
P s N A St G B
FHHICHH TS JHe] SRl IR SH<H ST TS SAnMecTsH GaISens J99=l HH
B St T WfE-TW I RS | SYFF TR FIATHE FHA F A 701 Sl JrFose!
it Sofaa weae! wRIET T B | HRE WEATe T ¢ s o o
TR AU Ha ATl AReE THe-fag gl ger MR Ssaferes Semn fae
ﬂmmﬁ:; = B | FfeREH T At A YU gl o wgaet’
o A foveEfes @ e W 9T B
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SANTALI

1. POWAGZ UdMZ GINYZ bHoPA J2EAE 02PY) 2U U2

(Answer any five questions)

5)(5:25

1) DAAE b2822 YANE 8Ab7A b
NZEZE Qv0bU 9P U2 2D 9Edb
902
9.39). 022D U2 1 Pl

ii) 0OABHE b282¢ AINI LALA P02 UAMZ GANAE 9.39). 02@ID U2 |
iii) UsOYE PAGYI0 bY0Z UBMZ GINAG 9).39. CAVIE UZ |

iv) G2.0PY) .NHNA.E PAGA0 bY0Z UBMZ CANYS 9.39). GADLIE U2 !

v) U GA.WPY. 0.6 PYGEI0 baI0Z UoMz GHNAZ 9).39). CAVIE UZ |
vi) U9MZ GANYG QvEvU $9. AL 9.239). 9P UZ |

Wi b bh L L L

vii) UBMZ GINAZ GLELE T2 L 9.29. 9P UZ |

2. DABAN (Draft a report) 25
HUTOIC WIR0Z UG Y08 I2CG AU D2'C2L WIZYE 939G D2LYG 8IP
N2 2029 229 1VI0AG 989 b2 A 0A. @ (B.D.O) hozZe Uuaehaed
AT 9P U2 |

3. Translate into Santali : 25

‘] won’t take up a lot of your time,’ said Kantibabu.

‘I came across one of your novels recently. So I gotin touch with your publisher, took your address
and here I am. There is a special reason why I had to see you.’ '

“Yes? Tell me about it. But before you do, there is s0 much I want to know.

When did you return? Where were you all these years? Where are you now?”’

[ returned two years ago. Before that T was in America. Now I live in Barasat.’

‘Barasat?’
‘I bought a house there.’
“Yes.’

‘And a green house?’

‘In the house that I had visited before, Kantibabu had a lovely green house, in which he tended,

with great care, several of his rare plants. I had seen such a large number of strange plants there!’
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4. Write a summary on the following passage. 25

W3 WOTIEZAGE 999U LIANA 29999U F2EYC 28930U THOHA DAULAU DAEO0A
bO2Z NOY.LIY.Z KL2DUD) BHIA bOIE UIGBITYIA 0ZbAE 9363 W2 PZE) |
NO2LLLY URAIZ MHRLE UZ20226D) '2 PAND). K23 BYIANZ 09'W2 0d'Ww202
Udez 90A OZPYV2E bIELY) LAREZ NOY.LIIE 2 UA09).Q9) 8IPD DA'WIY) L2¢ L2E
902 UIEZPAZ ILIE ELHE 0IPAE 9 | 92D 9L02 PAND.Q U209U LILY)
NWANZ BYLY 87ARY). IPAQUZ, DINLAAGAZ UIE2PAQ ILIE YGHROAPAAD) 1"

VERZ P7NY). £929) UDABIBHIA 87AR.LA0Z ALY NO.LIY.E PACAS 9396
SOVINZ VZEYRY P2eP 1 PAN. D NAWZD 1LHOOA IAZEZ 1IRWY) HOD.LHD
NOYLID.E PAGAS UDABITHIA D2 POV LONIRA 929G 02@2)D bAZ 8OYNN.Y

PZED) 1 929 NOY.LYD NOYL.LIYLE K2DUATHIA DOIE UDABIATHIA 02 YDA PIGIR
bAE &'362 W2h2ed) |
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PAPER-III
GENERAL STUDIES AND CURRENT AFFAIRS

Time Allowed — 90 min. Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the
questions attempted first up to the prescribed number shall be
valued and the remaining ones ignored.

1. Answer any five questions: 2x5=10

(a) Write the laws of refraction of light.

(b) Write with example the difference between mineral and ore.

(c) Write two harmful effects of depletion of ozone layer on human health and environment.
(d) What is hypermetropia? Which lens is used for its remedy?

(e) What is meant by renewable energy source? Give an example.

(f) Write down two uses of radioactivity.

(g) Which type of electricity is used in electrolysis and why?

(h) What are the bacteria called which decompose biomass to methane in biogas plant?

2. Answer any five questions: 2x5=10

3. Answer any ten questions:

20418

(a) Write two differences between hormone and nervous system regarding their mode of functions.
(b) “Nitrogen Cycle is getting affected due to human activities”.— State two phenomena to justify.
(¢) Write one cause and one symptom of lung cancer in human being.

(d) Write two differences between plant and animal.

(e) Write two functions of Mitochondria.

(f) Give examples of two ways over population of human affects biodiversity.

(g) How does reflex action help in daily life of human being?—Explain with two examples.

(h) What is the relation between phenotype and genotype?
1x10=10

(a) What is Metamorphic Rock?

(b) What is the name of the steep ridge lying between two corries?
(c) What is measured by Beaufort scale?

(d) By which unit relative humidity is expressed?

(e) Name any two gaseous pollutants.

(f) What is the main reason for occurrence of tides?

Please Turn Over
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(g) Name the highest mountain peak of India.

(h) Name a cold desert region in India.

(i) Which state ranks first in per hectare production of rice in India?
(j) Name the petrochemical centre in West Bengal.

(k) Which is the longest national highway of India?
(1) Which is the sparsely populated state of India?

(m) Which is the most populous city of India?

4. Answer any fifteen questions: 2x15=30
(a) Define the term Nutrition.
(b) What do you mean by “malnutrition”?
(c) Define Health.
(d) What is RDA?
(e) What is the RDA for energy and protein for a coal mine worker?
(f) What is “Balanced Diet™?
(g) Define Energy.
(h) Write two units of energy.
(1) Mention two clinical symptoms of Vitamin A deficiency.
(j) Mention two clinical symptoms of iodine deficiency.
(k) Why sucrose is a non reducing sugar but maltose is not?
(1) What are monosaccharides?
(m) Write the differences between glucose and sucrose with clear structure.
(n) Define BMR.
(o) Name one aromatic amino acid and draw the structure.
(p) Write one important application of Iodine value.
(q) State any two functional roles of sugar in foods.
(r) State any two factors affecting protein bioavailability.
(s) State any two effects of too high intake of Proteins.
5. (a) Indian nationalism grew partly as a result of colonial policies and partly as a reaction to
colonial policies. Discuss. 5

(b) “Though Swadeshi movement failed in achieving its immediate objective, yet it played a
significant role in the Indian freedom struggle.” Discuss. 5
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6. Answer all questions: 2x5=10
Xy=

(a) Select a figure from amongst the Answer Fi i i
. er Figures which will continue th i
established by the five Problem Figures. T

Problem Figures

Answer Figures
DQA?D'—‘ e SR A OO AF Ax OA =
F 1= oA B il lrl =10
% =l wHT Al -] o29 x v =i xj2. Alx 9
A @B © @O ® (- @ @) S S

Justify your answer.

(b) Choose the box that is similar to the box formed from the given sheet of paper (X).

o090

X)

Justify your answer.

(c) Find the minimum number of straight lines required to make the given figure. Justify your
answer.

(d) Look at this series : 8, 6, 9, 23, 87, ... What number should come next? Give reasons.

(e) Look at this series : 7, 10, 8, 11, 9, 12, ... What number should come next? Give reasons.

7. Answer any five questions: 2x5=10

(a) During the period of Covid outbreak, which state launched livelihood generation portal for
returned migrant workers?

(b) Which fund is emphasized by National Education Policy 2020 to set up?
(c) Who was awarded the 2020 Nobel Prize in Physiology or Medicine?
(d) What is the aim of PURVODAY A mission launched in West Bengal in January 2020?

(¢) State the major research area of Nobel Laureate Dr. Abhijit Vinayak Banerjee in the field of
Economics.
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(f) Mention any two objectives of ‘Sabooj Sathi’ project in West Bengal.
(g) Mention any two objectives of ‘Karma Bhoomi’ project in West Bengal.

(h) In which year Late Former President Pranab Mukherjee was awarded Bharat Ratna Award?

8. Answer any five questions: 2x5=10

(a) What are natural ecosystems?

(b) What is food web? Give example.

(c) What is meant by conservation of natural resources?

(d) What are fossil fuels?

(e) What is biodiversity?

(f) What are the main causes of the loss of biological diversity now-a-days?
(g) What are the air pollutants in automobile exhaust?

(h) What is essential in an EIA?
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PAPER-IV

ARITHMETIC

Time Allowed — 90 min. Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the
questions attempted first up to the prescribed number shall be
valued and the remaining ones ignored.

Answer Question number 1 and any sixteen (16) from the rest.
1. Simplify: 4

4B 30 18
2-2 43-18 3-23

5 W x 21448443 and y=14+Z 23 , then find the vale of 214 +¥" 6
xX+y

3. By selling 12 articles per rupee, there is a loss of 4%. How many articles should be sold per rupee

S0 as to gain 44%? 6
4. The M.P. of a bicycle is ¥ 4000. While selling the bicycle, if three successive discounts of 20%,
10% and 5% are allowed, then what price will the customer pay for it? 6
5. Find the least square number which is exactly divisible by 3, 4, 5, 6, 8. 6

6. Difference of two perfect cubes is 189. If the cube root of the smaller number is 3, then find the
cube root of the larger number. 6

7. Three bags contain 64-2 kg of sugar. The second bag contains % of the contents of the first and the

third contains 45 %% of what there is in the second bag. How much sugar is there in each bag? 6

8. If principal = ¥ 100000, rate of interest = 10% compounded half-yearly, find interest for 6 months
and amount after 6 months. 6

) g 5
9. During school hours, Neha finished 73% of her homework and Minakshi completed 3 of her

homework. Who must finish a greater per cent of homework? 6

10. Madhu’s room measures 6m x 3m. Her carpet covers 8m?. What per cent of floor is covered by the
carpet? 6
11. If x varies inversely as y and y = 60 when x = 1-5, find x when y = 4'5. 6

12. If a deposit of T 2000 earns an interest of T 500 in 3 years, how much interest will a deposit of
% 36000 earn in 3 years with the same rate of simple interest? 6
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13.

14.

15.

16.

17.

18.

19.

20.

Shabnam takes 20 minutes to reach her school, if she goes at a speed of 6 km/h. If she wants to
reach school in 24 minutes, what should be her speed? 6

A boy is cycling such that the wheels of the cycle are making 140 revolutions per hour. If the
diameter of the wheel is 60 cm, then calculate the speed (in km/h) with which the boy is cycling. 6

Two cubes have volumes in the ratio 1 : 64. Find the ratio of the areas of a face of first cube to that

of the other cube. 6
On dividing ¥ 200 between A and B, such that twice of A’s share is less than 3 times B’s share by
¥ 200, what is B’s share? 6
The population of a town 2 years ago was 62500. Due to migration to cities, it decreases at 4% per
annum. Find its present population. 6
Divide ¥ 2324 among three children in the ratio 1% : 1% ; % . 6

A, B and C working separately can do a work in 2, 3 and 4 days respectively. If they all work
together and earn ¥ 3900 for the whole work, how should they divide the money? 6

Taps A and B can fill a tank in 4 hours and 6 hours respectively and tap C (at the bottom) can empty
itin 12 hours. If all the three taps are opened together when the tank is empty, find after how many
hours the tank will be full. 6



